JO00odooooooodopPDFOO0OOOOOOODOO
Oo0oooOad
https://www.100test.com/kao_ti2020/91/2021 2022 E6 99 AE E
9 80 9A E5 8C 96 E5 ¢58 91582.htm5.10 00 00O OO
Jododoboooooouood @snoruool-)ao
0Sn2 00 (b) Ni2 O 1-(0 O 12)0 O O Nitd (c) Br-(O O Br2)
OCe4d 0O 0Ce30 (dH2020 AgU OO AgU 520000
Jod0ododiliod3ddououououoodn Au(ag)e =
Au(s) j0=1.69V Au3d (ag) 3e=Au(s)j0=150v (@ U OO I Od
Jodododododouououooo uodo
Jod0odododod (c)AudDOOO0O0OOOAudAu3 O
O@dUod®GUuEeuiobooiouooooooon 5.3
OD0HdlOOOooooooooodoARBOOOAIOOO
JododobooodeovOoUUOOoodoo112A0000 (a)
OO0k OO0oooooGUoooodoodoodon,od
OO0k Oooooooos40000o0oooooon
J0o0dooooooodoooooooooooooa
Jododododoossoouoooooooonon
J0o0doo0oooodoooooooooooooa
JO000o00o0oo0oodooooooooooooon
J000o00o0oo0oodooooooooooooon
Joodoboooogyx oo ooooooon

[ [Journal of Chemical Education, 50, 61(1973)] (a) U OO U O [
Jod0odouooo20000000 0 300atmO O O
Jodododododod uuoboooooooood
Jodododduooooooobooboondno.23n



OO00000000o00osedbonoooooooonn
J00000odboddcCyre200000O00O0OOOOO
OO000000000000OATPOOOOOATPOOOO
JododododododpHOoO7OUOUODOOOOoOon
OO00000000 O2(g) 4H (aq) 4e =2H20(1) j0 =0.82V
CyFe3 (aq) e=CyFe2(aq) j0=0.22V (a) CyFe2 0 O 0O O O O
ODGUOUOOO (oOooooo@AbPhoooooooo
OO ATP)O DGO 377kl D 000 OOo20000000
OATPO S.7pHO OO0 0OO0OOpHOOOOOOOOOOO
J0odoodooooodpHOOOOOOOOoDOooOOooo
Oo000000o00odoooooooooooood
OlatmO 0000000000000 O000O0 (2000
D000 GGUooooopHOOSOOOOOOOOOO
CUUOpHOODOOOOOMpHOOOOUOOOOUOOOOOOO
OO0 100Test DO 0O ODO00ODOOOOO0OOOOOOOO
O 0O 0O www.100test.com



